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PRES )| DENT

1. What temperature is Absolute Zero supposed to always be? Zef" kslqins or '_2? °c
2. What special thing happens to matter at Absolute Zero? &l \{ bradion = Ps

3. Which of the following is not standard pressure?

a.1laum @ c. 101.3kPa d. 101300 Pa e. none
4. The temperature at which all vibratiog (“The Dance™) stops is (ci r morel choces)

a. 0°C b.-273 K d. 273°C fe. -273°C

5. *If this manometer and box contained 2x102 atoms of helium and

then you added another 2x10% atoms  of helium, the height of liquid
shown by “h” would

a.  decrease
b. stay the same

6. If the picture of this manometer and box was taken in a room in
Madison (elevation 800 feet) but the box was later moved to Boulder.
Colorado (useful clevation data is at the top of this page...) the height
of liquid shown by “h"” would

a. decrease

b. stay the same

a)  ..af the weather b) ..afabquwdofless |c}) ...ifinsteadofa d)  ...af the tube were

caused a low density were vacuum there was 2 open at the top

pressure spstem in substituted for the small amount of axr mstead of closed

the area mercury nt he top of the
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Redraw how the liquid | $9 o Bl \e"el
height would look 8 l /4 '
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Write these labels into the appropnztc boxes
of the diagram to the left:’

¢ the atmosphere presses here

* pure mercury liquid

vacuum

9. The distance from A to B is

q meaningless and useless
ays 760 eters long at sea level on

an average day
10. The distance from B to C is
a. meaningless and use
ways millimeters long at sea level on
an average day 1
11, The distance from C to D is
Q_a._meaningless and usd]

ean

4 e
b. always 760 millimeters long at sea level on
an average day

)

12. Convert 652.5 mmHg (lowest pressure ever recorded at sea level—inside

Typhoon Tip) to

2 tor G595 ety

b. atm 6{52 bmm\"(j

c. kPa
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= pKH71 Sterr




13. A sealed-tube manometer as shown below, left, has a complete vacuum. The liquid mercury

levels in both arms of the U-tube are equal. If a gas sample is introduced into the round flask,

the mercury levels are different, as shown on the right.

1 b

The difference h is the measure of the pressure of the gas inside the flask. If h is equal to 6.5
cm, calculate the pressure in the flask in the following units:

a. mmH

@atwm g-% GAs

¢ Smatly = 9as
65mm“3= gas

b. torr

65 orr

c. pascals

65"‘"‘ H5

65l

101300 fa P) 8700 %

70 ety

d. atmospheres

101 X0Ta | 3°°r“> 0085«"’/\ ’

760 wamby

are equal. In Figure B

given below.

14. A diagram for an open tube manometer
is shown in Figure A; the flask is open
to the atmosphere, the mercury levels

5 @ gas is now

contained in the flask. Calculate the

pressure in the flask in the four units

Atmusphere (T760. tarr)

a. mmHg

7@@%@%@

¢ mzur 71;&%\
b
(H7 fore

c. pascals
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d. atmospheres

Gty (1

7(70 mmlij
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